STEERING STEM KIT
for YAMAHA SR400(FI)
Part Number:55-401-10

OVIER
2

sy

55-401-10/201807B-1

Part QT
Top Bridge 1
Under Bracket 1
Stem Nut 1
10mm Spacer 2
¢ 16 ¢ 8.2 L14.5 Collar 2
M8x25 Bolt, Cap 4
M8x30 Bolt, Cap 6
M8x35 Bolt, Cap 2
1

/ &
Part QT
Fender Bracket 2
Fork Bracket 2
45mm L/ Axsle Collar L 1
52mm R/ Axsle Collar R 1
Meter Gear Bracket 1
Axsle Shaft 1
8t Disc Spacer 1
¢ 16 ¢ 8.2 L9 Collar 4
M6x10 Bolt, Button 4
M8x25 Bolt, Button 6
Washer 1
Nut 1

/

Part QT
R/ Caliper Support R 1
M10x25 P1.5 Bolt, Cap 2
M10x20 P1.25 Bolt, Cap 2




M8 35 A
¢ 16xp 8.2 L14.5
B
¢ ( )
( )
40.5mm
(. A
@ =
............... [ R
40.5mm |I|
[ 5~
\ J
M8x30
. 10mm
M8x25

55-401-10/201807B-2




/ &
4 S N\
M6XL10 ( ) E=—Ei ‘ ‘
@ \—
M8xL25 I_I :I:E
RC ) 317 ?/ ’
-}
(o) L N o & "~ %
L / R
= =
00 D=1
d (D
N J
/ - N

M10x20 P1.25)

M10x25(P1.5)

55-401-10/201707A-3



	SR_55-401-10_1.ai.pdf
	SR_55-401-10_2.ai.pdf
	SR_55-401-10_3.ai.pdf

